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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Name the different types of Provident funds of which a 

salaried employee may be a member and state the 

provision of Income Tax Act regarding each of these 

funds.  

,d osru ikus okyk deZpkjh ftl&ftl izkfoMs.V Q.M dk 

lnL; cu ldrk gS muds uke crkb;s vkSj muesa ls izR;sd 

ds ckjs eas tks vk;dj fo/kku gSa] mudk o.kZu dhft;sA  

2. What is Capital Gain ? Explain the capital gains which 

are exempt from tax.  

iw¡th ykHk D;k gS \ dj eqDr i¡wth ykHkksa dh O;k[;k dhft;sA  

3. From the following particulars calculate taxable salary 

of Mr. Ram for the assessment year 2016-17 :  

Salary   ` 5,500 per month 

House rent allowance  ` 2,400 per month  

Dearness allowance   ` 5,000 per month  

Entertainment allowance  ` 1,200 per month 

Travelling allowance  ` 2,000 per month  

Mr. Ram and his employer contribute to recognized 

provident fund @ 14% of salary. One small car is 

allowed to him by the employer, both for private and 

official use. Expenses of car are borne by the 

employer. He lived in a rented house on a monthly rent 

of ` 3,000. Mr. Ram is working in Lucknow.  
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fuEufyf[kr fooj.k ls dj fu/kkZj.k o”kZ 2016&17 ds fy;s Jh 

jke ds dj&;ksX; osru dh x.kuk dhft;s % 

osru   ` 5]500 izfr ekg 

edku fdjk;k HkŸkk   ` 2]400 izfr ekg 

e¡gxkbZ HkŸkk  ` 5]000 izfr ekg 

euksjatu HkŸkk  ` 1]200 izfr ekg 

;k=k HkŸkk  ` 2]000 izfr ekg 

Jhjke vkSj muds fu;ksDrk izekf.kr izkfoMs.V QUM eas osru 

dk 14% va’knku djrs gSaA muds fu;ksDrk ds }kjk mUgsa ,d 

NksVh dkj vius futh rFkk dk;kZy; ds iz;ksx ds fy;s nh 

xbZ gSA dkj ds [kpsZ fu;ksDrk ogu djrk gSA os ,d fdjk;s 

ds edku eas jgrs gSa ftldk ekfld fdjk;k ` 3]000 gSA Jh 

jke y[kuÅ esa dk;Zjr gSaA  

4. What are teh provisions relating set off and carry 

forward of losses ? Discuss.  

gkfu;ksa dh iwfrZ rFkk mUgsa ys tkus ds lEcU/k esa D;k izko/kku 

gSa \ ppkZ dhft;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  



 [ 4 ] BBA–601 

A-67 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four of the following : 

fuEufyf[kr esa ls fdUgha pkj ij la{ksi eas ppkZ dhft;s % 

1. Annual Value.  

okf”kZd ewY;A  

2. Any three exempted allowances.  

dksbZ rhu dj eqDr HkŸksA  

3. Casual Income.  

vkdfLed vk;A  

4. Main provisions of deduction u/s 80G.  

/kkjk 80 x ds vUrxZr of.kZr dVkSrh ds eq[; izko/kkuA  

5. „A‟ retired from service on 31-03-2015 and started 

getting pension of ` 6,000 per month. On 1-1-2016 „A‟ 

got commuted on fourth of pension and reveived 

` 90,000. Calculate taxably amount of pension for the 

assessment year 2016-17 if gratuity is received on 

accrual basis.  

^v* ukSdjh ls 31&03&2015 dks fjVk;j gqvkA mls ` 6]000 

ekfld isU’ku feyhA 1&1&2016 dks mlus viuh ,d&pkSFkkbZ 

isU’ku dk jkf’kdj.k djk fy;k vkSj ` 90]000 izkIr fd;sA 

dj&fu/kkZj.k o”kZ 2016&17 ds mn; gksus ds vk/kkj ij ^v* ds 

gkFkksa esa isU’ku dh dj ns;rk dk fu/kkZj.k dhft;sA  
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6. Compute tax liability of a Hindu undivided family 

whose taxable income is ` 5,34,600. 

,d fgUnw vfOkHkkftr ifjokj dh dj ns;rk] fu/kkZfjr 

dhft;s] ;fn dj&;ksX; vk; ` 5]34]600 gksA  

7. Compute Gross tax liability of Mr. X His income is as 

follows :  

                                                                                  `  

(i) Income from house property  95,000 

(ii) Winnings from lottery   1,00,000 

(iii) Long-term capital gain    20,000 

(iv) Salary income   52,000 

feLVj ,Dl ds ldy dj nkf;Ro dh x.kuk dhft;sA 

mldh vk; fuEuor~ gS % 

                                                                                ` 

(i) edku lEifŸk ls vk;   95]000 

(ii) ykWVjh ls thr   1]00]000 

(iii) nh?kZdkyhu i¡wth ykHk   20]000 

(iv) osru ls vk;   52]000 

8. Concept of „income‟ as given in Income Tax Act.  

vk;dj vf/kfu;e esa ^vk;* dk fopkjA  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True or False.  

lR; vFkok vlR; fyf[k;sA  

1. Income tax is an indirect tax.  

vk;dj ,d vizR;{k dj gSA  

2. Deduction of tax at source is made for all the incomes.  

lHkh vk;ksa ls lzksr ij dj dh dVkSrh dh tkrh gSA  

3. Assessee is always a person but a person may or may 

not be an assessee.  

djnkrk lnSo ,d O;fDr gksrk gS ysfdu ,d O;fDr lnSo 

,d djnkrk gks Hkh ldrk gS vkSj ugha Hkh gks ldrk gSA  

4. Income tax paid is not an admissible expenditure under 

the head business and profession.  

O;kikj rFkk is’ks ‘kh”kZd ds vUrxZr Hkqxrku dh xbZ vk;dj 

dh jkf’k Lohd`r O;; ugha gSA  

5. The rate of income tax on longterm capital gains for an 

individual is 20%. 

,d O;fDr ds fy;s nh?kZdkyhu iw¡th ykHkksa ij 20% nj ls 

vk;dj yxrk gSA 

Fill in the blanks.  

fjDr LFkkuksa dh iwfrZ dhft;sA  

6. Gratuity received by a Government employee is .......... 

,d ljdkjh deZpkjh }kjk xzsP;qVh dh izkIr jde 
---------------

 gksrh 

gSA  
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7. ` .............. is allowed as for deduction u/s 80 DD 

regarding disability.  

/kkjk 80 DD ds vUrxZr fu’kDrrk ds fy;s ` 
---------------

 dh 

dVkSrh Lohd`r gSA  

8. Education cess is leviable in case of .............. . 

f’k{kk midj 
---------------

 dh n’kk esa yxk;k tkrk gSA  

9. Income tax is rounded off to the next of .......... . 

vk;dj 
---------------

 ds :i eas iw.kkZafdr fd;k tkrk gSA  

10. Agricultural income is ........... income.  

d`f”k vk; 
-----------------

 vk; gSA  
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